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However, — JI29 WOR QIO TS NN XX WA KT
when the v is released from both their hands the j121 certify it

OVERVIEW

"X 2w limited the 73wn to cases where there is only one 2w, however if there
are two D°m>w the v3 is W in any event. »aX cited the np17nn between the P"n and
"3 in the X9°0 of the mwn regarding 1"192 X XY 3"192 2™ '3, and asked
(rhetorically), but if it would be 21w >"nn XX1° vi all would agree that it is Ww>.
The % m3 responded indeed it would be; to which »ax asked so what is the np12mn
between the >" p"n if MW >"nnn XX 0T PR. Our MBOIN discusses the necessity
of the introductory inference by *»ax that if amaw *"nnn XY V3 it is Ww>."

— 2099 NI 91 RS VI PN 29) IRYY NIV 299 13 PTPM
»aR makes this inference (that 7127 *"wo»n 07w "nnn XYY 03 X7) because he

wanted to ask, ‘but if the v is not X3, etc., what is their argument’ (why do the
1127 maintain that it is 9109 [if 7"192 92X 'R 2"192 MR 22w], and why does °"1 maintain it is W

— 253w 1YWY WIDNRY 113 39T 1Y KNS DY 1> NNNM N VAT
For if the w3 is 27w °'"'nnn XXy, then their argument would be understood, for

they argue as it is explained in the second version.
— PYNI PWHA IND Y9IV 1195 1515 N8I V) PN IIT9YT 29V YD NN NIOIN 1V )WY

However in the second version the opposite is true; that it is preferable that the
»"1 1121 argue where XX v3 PR as the X7 explains here in the first version®
21990 191932 (x,m 47 poiny DIV 1IN NN “9F NIND Py

! Seemingly this inference is self-evident and not necessary; why does »2x mention it as a lead in to his question.
2 This is the XX X2 which maintains that 07" *"ANA XXP VA 19°5X the 1127 invalidate the vi. According to this
M5 the npY?nn between 11271 "1 is whether the reason for 11192 is because of 7w or ovp. This explanation of the
nponn was preferable to *ax in the Xnp X1 (than the explanation of *9%m°K, which is mentioned Rnp Xw°59).
Therefore *ax inferred 1321 *won oW >N XX V3 K7, so their nPY?nn is only by X¥1> L3 PX, in that case there is not
that credible an explanation what they are arguing about.
? Their argument is whether 92X 12w n; this is preferable (according to »ax in the *3w 1Y) over the explanation
that they are arguing in X271 727. See ‘Thinking it over’.
* In our Xxm3 the two nnw® disagree (regarding the view of »ax) whether the preferable way to explain the npyomn
between 7127 °"1 is that they argue whether *%m°X? 11w in such a case, or whether it is preferable that they argue
if 11192 was instituted because of nw? or because of ovp. [They obviously also disagree whether v W27w '3 are
required to say 1"1192.] In each version »ax prefers the explanation of the other version.
5 There is a nonn there between *"' X" whether one can bring a 71971 791 as a 1217 or not. One 1Y prefers that we
are discussing a case of 772y 2"nX1 7197v1 and the npY2nn is whether 07 7N A7 is MOX or not (the male is a oM of
an>77). The other W5 prefers that the n12nn is where 79701 3"'nXY 772°Y and they argue whether %Y 77 921 or not
(the T is not a 1197w when it is born). There too each 1% prefers the interpretation of the other W% (regarding a
W'Y 19270 NXd).
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And there is a discussion similar to this one in m»=2v Y& P75 regarding the
offspring of a 9.

SUMMARY

The two MY in our X3 have extreme opposite views which is the more
preferable way to explain the np12mn between 33271 °", whether it is regarding
"R, or following the viewpoints of X271 1727.

THINKING IT OVER

MooIN states that "1 NW921 it is the opposite (that we prefer the argument between
127 "1 should rather be regarding °9%mX that arguing whether 1"192 was
instituted because of 7w or o1p).° Why indeed cannot we say that according to
the *1w WY that they argue even in a case where the v is 2w *"'nnn XX, that their
argument is whether *2¥1°X% 13°w>1 or not, just like according to the first nws?!

6 See footnote # 3.
" See n"m.
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